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SECTION—I : MATHEMATICS

1. The length of tangent from a point 15 c¢m away from the centre of a circle of radius

9 cm is
9 ot Tyngo o oo Mol 15 bolb, trted fo Hotad Med e HEnDs AobriBig ol ol
(1), 12em {2) 9 cm (3) 10 em 4) 15 cm

12 Do, 9 nolfu. 10 »olo, 15 mels

2. If two circles touch internally, then the number of their common tangents is

Bofs TyTres SodIIcT i lodtineaad e aiyd MmEfve Dopy;

. 2 2) 3 13y o i+ 1
3. If the radius of a sphere is tripled, then its volume will become
e Ao dlosty gy 30ty S0 ol FRsisrmed’ bairdy
(1) 27 times (2) 9 times i3) 4 times {4) double
27 oey 9 2ey $ouy O

4. A patient in a hospital is given soup daily in a cylindrical bowl of diameter 7 cm. If the bowl
is filled with soup to a height of 4 em, then how many litres of soup the hospital manage-

ment has to prepare daily to serve 100 patienta? '
£8 enDE'D Proels PO B'en 7 Jo.tb. Jgito Ko Agdws Fad 4 ol J@mm‘ﬁﬁ"ﬂm”ﬂﬂ
a0 bepod POS'er S Do 100 Hod Bk 5330, 1 2 Sog nrbas sairds Jard?

(1) 15 2) 152 3) 154 (4) 156




, ; i 24 i
S The total surface aren of a cone with slant height 21 m and diameter of its base m is

T 21 L weade o mgonee 24 e ho oS Boquiy Gt RoR de drepha
(1) 252=sq.m (2) 504n8g. m

25230 504n 5. 2.
(31 3967 sq. m (4) 1080n sq. m

396n o. o 1080n 3. 2.

6 cos(90°-6)sin(90°-8) =

tan® tan@
—_— A —— 4) 0
1) 1-tan®@ 2 l+tan?® @ 1 “
7. The value of cosl®cos2®...... cos180° is
cos1®cos2° ... ... cos180° dlog), Desd
1) 1 (2 0 3 -1 (4) None of these
0 =%
tanb5° |
8. The value of wot25° is
tan65°
cot25°
(1 o 2) 1 8 -1 “ 3
o 2tan 30° -
" 1-tan?30°
(1), sin 60° (2) cos 60" (3) tan 60* 4 cot60°

10, If unm-a;.:}.s. and '"’":15' then the value of B iy

mm-m-:}smma-%mam

(1) 45 @@ 15 : 3 30 4 60*
k ~ 8PACE FOR ROUGH WORK / duggank dgesio




11.

13.

13.

14,

Il x=asect and u - biand, then the value of hy? a?y? is

K= asecl wihioe o btant o by '9252 Jers

“!. ahb (2} g2 _p? 13) a2 + b2 I3 adp2
sing
1+cosh
1+cos0 1-cos8 1-cos@ 1-sinf
1] —— 2] — —_—
) sinf @ cosh ﬁf] sin@ 4 cosh

A Ikdte is flying at a height of 60 m above the ground. The string attached to the kite
is temporarily tied to a point on the ground. The inclination of the string with the ground
is 60°. Assuming that there is no slack in the string, the length of the string is

arle wod 60 o J@?Jmﬁﬁmm@umﬁﬂ'ugmwg miSean:
STt addlriods Toe S (G0 St H6D §oolitand)
(1} 40y3 m 2 6043 m ) 12043 m 4 3043 m

4043 . 6043 2. 12043 . 3043 .

1
What is the angle of elevation of the Sun, if the length of the shadow of a tower is Nt times
the height of the tower?

1
&5 058 ol D ep ood Joge T3 363 woaB o shaned® artin? dag oo

(1 ao° 2) 45° (3) 60° (4) None of these
' ey

.‘Tbel.ngleofeievntinnofthcmpon.hnworltutdinguna.hodmntl]phnehmlpom""

is a. After walking a distance d towards the foot of the tower, the angle of elevation is found
to be . Then the height of the tower in n

S0 o 8 Dot A" o0 8 558 ey oot Doy deg o, © Do ol Fos Sroiy d'
uﬁymmags‘mﬂm.msm

) ) -
k-mﬂ @ dicota-coth) () Hra-corp (4) ditana-tanf) )



16.

17.

18.

19.

:I:'m friends are bom n the year 2000 The probability that they have the same hirthday

AN A 2000 won & eRiedd TOWTO P Ser of P 53708 RowHo

1 364 365 :
2) — — 4 -
365 365 B 366 ' 366

1 1 . -
™ & simultaneous toss of two coins, the probability of getting at least one head is

wak TR 137D Joddhaipis s ee Taye rotifie Rogragd

1
(M 2) @ 3 @ 1

£

1
4

If a die is thrown once, then the probability of getting a prime number is
£ ST 1800 DS S Sopgio Jodilie Hogrsg

1 1
g 2 3 (3)

| K
B | =

4]

If Eand E are the events of occurrence and non-occurrence of a random experiment
respectively and P(E)=005, then P(E)=

eS8 QD edirnief’ E 50an E o 68 10053 eoredE 3000k esutSedl Sonodols e S
P(E) = 005 ecxd P(E)=

(1) =005 (2) 05 (3) o9 (41 095

In a graphical representation of a frequency distribution, if the distance between
mode and mean is k times the distance between median and mean, then the value

of k is
.8 Driscyy Depasstins ooty 3¢ O ol erirodios 5080 SoldgHiue SoggHmto, Sxghitun St e
Sodigatioon S0l Srordl k By vanisiood k Deos

(ny 2 2 3
@ 1 (4) Cannot be determined
BV .S
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21. The mean of 1) ohservations is 49, By an error 60, 70, RO are registered as 40, 20, 50

respectivelh The comeet mean is .

TO0 wodtoor e 40 2 60, 70, B0os: sviseom scusm 40, 20, S002 2res A7 =, .., BT
At

(1) 48 (2) 52 3) 54 [4) 50

22. A car manufacturing company announced that most of the people are showing interest to
purchase red colour cars. The measure of central tendency they selected for this observa-
tion is

L5 5 676 502 53 dlug 308036 s mMmm?wnaw@m. PELe)
Db’ hﬁ%!o@cﬂ:ﬂ;m

(1) median {2) mean (3] mode (4] None of these

S ’ S0l Bofodon () ersroesias = ey

23. If the median of 10 observations 20, 22, 27, 28, 32, x+2, 39, 40, 41, 50 arranged in the
ascending order is 3-1_, then the value of x is

uﬁ‘:ﬁmmﬁlﬂaﬂ@aiﬂ,Zﬂ,ﬂ,Qﬂ,S.ﬂ.x+2,39,40.41,50n%34=n»313nﬁ
(1 32 2) 34 3 35 4 36

24. If mean of first n natural numbers is 15, then the value of n is
Jooded 1 e Sowge Wik 15 sowd i Deus
{1) 1s (2) 30 (3) 14 ) 29

28. The difference between the maximum and minimum observationa in the data is

X Serokol’D nog Sodatis B3 dase Sasay

(1) class interval (3) frequency
BN ot . Eracpye

(3) cumulative frequency : 4) range

S0l Brisespiyo - 3

Propp———




26. Which of the following in an irrational number?

LT B LT Ty BDegyt

_ 3
(1 o2 ) 2= (3) 1z

27. Il a, b, care real numbers, then which one of the following shows associative propesy w - -
addition?

@, b, ¢ 333 RopB & 2oB 06 DB sotiaio Gy ST Uoy Ty Ll

(1) a+b=b+a (2] a+ib+c)=(a+b)+c
(3] alb+c)=ab+ac (4) None of the above
ERNE

28. Which of the following rational numbers has terminating decimal expansion?

& 0B etcial Hogged’ DO wotitadly tro¥ Dve?

a7 21 , .
M 325 2 s © 72 AP

29. If p, q are co-prime numbers, then HCF (p.g)=

P. q o0 Botio nir-3eris Powgdd, KA er. (P q)=
%

) p 2 q B pq sl

30. The smallest number which leaves remainders 8 and 12 when divided by 28 and 3.
respectively is Y

28 Ss0ctis 32 Sopgell grhos S 8 30 12 Freo 33, £33 30w

(1) 224 [2) 244 3 204 4 214
SPACE FOR ROUGH WORK / g0l oo




31. Which one of the following statements is true?

oo BoD @ROTLS DO g
(1) Logarithm of 1 to any non-zero base is 0
2 ardn0 ooty | dol Sekgarse 0
{2) Logarithm of any non-zero number to the same base is 1
2 Ardod eroUET of Doy (k) Sodaric ol dopy ugreld 1 wiood
(3) Logarithms of a number with different bases have different values
&5 ey o) ROBFErTw 3 errools it dcwro
(4] All of the above
i

32. If the characteristic of logarithm of a number is n, then the number of digits in the
number is

25 HodgEre dhol) oririto n won e Popgd' ol edie

(1) n (2) n-1 3) n+1 4) n?

33. If A={1,2,3,45) and B=14,5,6,7), then A-B=
A={1,2 3,4,5) mdcie B={4,5,6,7}, w008 A-B=

(1) {2, 3} 2) {4, 5} (3 11,2, 34 4 16, 7}

34, If
A = {x:xis an even number leas than 10} and
B={x:xis a prime number less than 10}

then n{An B) is

A= {x:xe3s10 sod S5 ooy | Sebak
B={x: xeds 10 5ol owps 56 Sowg |
wowd n(An B)

N o 2 1 3 2 {4) None of these
[ ﬁ:ﬁﬂ

SPACE FOR ROUGH WORK £ Diigadl e



35. If AnB=4¢. then which of the following is correct?

A B=¢ ouwed & 20d 708 D0 Fiho

(1) A and B are disjoint sets (2) A#¢ and B=¢
A 2da B oo Dal 3ions Avzd nbuo B=¢
(3) A=é and Bz {4) All of these
A=¢ modaw B¢ Dyt

36. Which of the following is a factor of the polynomial x*+ x? - 17x +15 2

2 208 726 08 x4 x? S 17x 415 i BRSO LY Srrotiang

1) x+3 2) x-3 B) 2x+3° 4) 2x-3

37. f a, f are the zeros of the quadratic polynomial x? +x+1, then 14% is
a

1.1
a.ﬂm_xh“lamagwmmgﬁ atp s

(1 1 2) -1 3 o (4) None of these
#3h ey

38. If a polynomial of degree 7 is divided by a polynomial of degree 4, then the degree of the
quotient is '

30areo 7 5 o8 eiusad S05rme 4 sﬁm:mma%wwmm
(1} less than 3 2) 3 (3) more than 3 4 0
3 od oy 3 sod Juys

39. The number of solutions of the pair of linear equations x+2y=8 and 2x +4y =16 are
X+2y =8 mobuin 2x + 4y = 16 8baw boscere e dol, e o

(o @ 1 (@ 2 (4) infinitely many
. ulots elto

SPACE POR ROUGH WORK / Disgtd sy



40. Five vears a2e. Ramu was thriee s old as Semu and ten years later, Ramu will be twice
as old as Somu. Then the present ages of Ramu and Somu respectively are

Senow A00 T et Moo sk 3 e el 10 foon o S0T8 500 RN M0 L am 2
e W Maes el A NeRT
(1 35,20 12) 20, 35 13 20,30 iy 30, 20

41. The pair of linear equations 2x+y-5=0 and 3x-2y-4=0 intersect at the point
2x-y-5=0 203 3x-2y-4=08bas BloESero w6 At pois Deasy

(1} 1L, 2) 2) 2, 1) 3 (1.3} @) (1, -1

42. For what value of k, does the quadratic equation 0x? +3kx+4 =0, have equal roots?
k 2oz D leods Ox? 4 3kx+ 4= 0 e 5 ShEterdE Rarn tarees Dowran?
1y =2 21 #3 3 4 4 19

43. A takes 6 days less than the time taken by B to finish a piece of work. If both A and B
together can finish it in 4 days, then the time taken by B to finish the work is
25 320 370 Scioots A © B %083 6 Beren St oo 3000, A, B e 3t 595 ¢ 300 4 S’ 39
Szrind, Bed 320 g Sanndi ssio

i1y 12 days (2} 14 days (3) 16 days (4) 18 davs
12 Bere 14 E'erens 16 E'eren 1B Femen

44. If the product of two consecutive integers is 306, then the quadratic representation of this
condition is
Boc: S0u I Howse ogo 306 e 3pdu: Arded 3y atustno
M) x*+x-306=0 2) x*+x+306=0

B) x*-x+306=0 4 x*-x-306=0

45.1f x=1 is a common root of ax?+ax+2=0 and x?+x+b=0, then the value of ab is
x=1638 ax? +ax+2=0 20t x? 4 x+b=0 o0&yl SoredI ab Jeod

(1)1 2 2 3 3 4 4

r SPACE FOR ROUGHWORK / Ol 23




i i ... 18
46. The mussing term () of the Anthmetic Progression (AP) 3, 7, 33, 48, ...

G0 ont aR, L ed eos@d (7)) pdvowT povnlhad R
i 2 16 3) 20 4) 22
47, 1 - _ . ‘H lon terms =9, then the value of n is

2-5+8+-toBterms

1-3+5+ na
it - 5 rl\:m:uss.:‘g sod 1 Jead

2-5-8- Bages
20 2 40 @ 10 4 30

48. If the 6th term of a Geometric Progression (GP) is 243 and the 1st term is 32, then what
will be the Sth term of the GP?

L5 remRAET Do) Sobaln 63 Sores ST 32 S0k 243 s w @350 53 sane

(11" 162 2) 81 (3) 108 4 72

49. The arithmetic mean and geometric mean between two numbers are 75 and 21 respec-
tively, then the numbers are

Sat: 2opyo Sut wof Sl Sobaly MerdE Mufiiutae SN 75 S:daks 21 sond o Roggm
(1) 63,87 (2) 73,77 (3) 17,133 4) 3, 147

50. If the points (x, 9), (0, 1) and (-6,~7) are collinear, then the value of x is
(x, 9), (0, 1) 20t (-6,-7) Dotiapew 38Pcrdd x Jews

i 4 2) s 3l 6 “ 7

51. The area of a triangle with vertices (a, b+c), (b, c+a) and (¢, a+b) is
|n.b+c],{b,c+ajﬁmntc,a+b]l;w$mwn

1

(1) gabe @ -;-I_'ah+bc+eql
: .

(3) Etazq-b’ﬂ:’i 4 0

SPACE FOR ROUGH WORK / Digsind e



B2. The slope of & line perpendicular 10 13y

THil-0 is
130 = 7w+ 1= 0nogdys DL Pose My ree
13 13 7 i
= 2 = — 3 -
m 3 @ -3 B3 U
53. The mid-point of the line Joining the points (4, 5) and -2, -1} is
. 5) 28z (-2, 1) Dadagpons su-.maqpmst Sefpfecey
(1. 3 @ @ B (1,2 @ (2,1
54. The matio in which the X-axis divides the line segment joining the points (4, 6} and
3, -8) is
14, 6) obaw: (3, B8 Dotiupes Y 8¢ pociy X- oo Drsd W
1 1:2 [23__ 2:3 3) 3:4 4 4:5

S5. The point on the X-axis which is equidistant from the points (2, -5) and (-2, 9) is
K- s 2o Joear (2, -5) Sobatn kz,glwmﬁmawmm
1) 7,0 @ (0,-7 B (7,0 4 7

B& In the given figure, if PX=5cm, XR=3em, QR=7.2 cm and XYIPQ, then the length
of RY is

30 006’ PX =Scem, XR=3cm, QR =7.2 cm s5:8am XY || PQ saxd RY ey
P Q

2) 3em
3 hedo.
{4) Cannot be determined
Dhosceds
SPACE FOR ROUGH WORK / DeigEDg Specie




57. If the ratio of the corresponding sides of two similar triangles is 2 : 3, then the ratio of they
corresponding altitudes is

Sods MY oo LN furre .'_qu;ama:dg:n:chmﬂﬁgg
i 3:2 2] 4:9 13 2:3 (4 9:4

58. In the given figure, if AB=¢, AC=b and AD | BC, then AD=
2w’ AB=c, AC = b 20 AD L BC woad AD=

c
D
B A
be bc bicz )
3] m 2) PP (3) w (4) None of these

o %

59. If the circumference of a circle is 22 c¢m, then the area of a quadrant of the circle is
£ Sydo dlug SenFod 22 mm_mu:@;ﬁdwﬁmmmw

(1) 8625 sq. cm (2] 9625 sg. cm
8625 3. e, 9625 3. ol

(3) 10.5 sg. cm (4) 12-825 sq. cm
10.5 & molo. 12-825 3. Dol

60. Four equal circles, each of radius 7 cm, touch each other and a square ABCD is formed
through the centres, A, B, C, D of these circles as shown in the figure. Then the area of
the shaded region is

Seof’ irdsepr 7 Ho.d. Tyrgo flo res SHErS e does A, B, C, D o8 boyas saotiso ABCD e,

55 3 drod g

A B
(1) 119 sq. cm (2) 42 sq. cm (3) 15758q.cm  (4) None of these
119 o. bodu. 42 3. ot .
1575 & Doty 0 59 .

SPACE FOR ROUGH WORK / Disgd



SECTION—II : PHYSICS

61. For a person with myopia defect, the maximum focal length of the eye-lens is
s, oy S0 EDAGIN o8 3gd Sodd Sel KOy Terpotthn

(1] <25 cm [2) =25 cm (3) =25¢cm (4] None of these
<2-5 nahe bo»2-5 hah = 25 Dhoau. P

62. The sensation of vision on the retina is carried to the brain by

By Doyl iyl Myoii Bosstats Sudhatond
(1) ciliary muscle (2] cornea (3) optic nerves [4) iris
nBaird sodores SOy &5 Teoe ot

63. Pick the correct answer from the following two statements :
{A) In VIBGYOR, wavelength increases from viclet to red.
B) In VIBGYOR, refractive index increases from violet to red.
2ob Tot TrEHeon Aod PO BErerio Joby dabod :
(A) VIBGYOR 6‘5&3«%0 G GOTL Sood JEpborus HENLSEE
(B) VIBGYOR & 555 romto damrord Sood Japoort HHw=ioos

{1) only (A) is true (2] only (B) is true
(A) Srgd Deo {B) s Deo

{3! Both (A) and (B) are true (4) Both (A) and (B) are false
(A), (B) Bocir Derd (A), (B) Dotir a8

64. In a glass prism
i e :Jegfoé‘
(1) green light is dispersed more than red light
LS Fob Muyterh sod o Jiyn HEtne Som
(2) red light is dispersed more than green light
oo ol ehIhtiolh S0 ol Jiun Mdno ot
(3) both green and red light are equally dispersed
w3 Sobcin HPGoD Solivny Bardom Mo Dot
(4} None of the above
—0 T

SPACE FOR ROUGH WORK / QegaDh fpRsio



65. A person cannot see objects clearly beyond 40 cm. The power of the lens to correcy
vision is

5 28 40 om sod ardo &3 Mol e Sred. s BT M0ddiuet TEICLD S08 daggo
(1) +25D i’} -25D {3 +4 D 4 -4D

66. A bulb draws a current of 0-2 A from a 220 V source. The resistance of the filament of the

bulb is
&5 200 wun 220 V 33 Sood 02 A Do IDEPAY, & pay Seooks dlug, 60
1 11000 2) 1100 (3 440 4y 2220

67. Volt is the SI unit of
T¢ s A2 Sl girne

(1) electric charge (2) specific resistance
et 285,060

(3) electric current (4) None of these
i o 0 5y

68. Four resistors each of 1-5 Q are arranged in the form of a parallelogram. The equivalent
resistance between any two opposite corners is

2550 15 Q D003 5BAS 4 DE ey L8 Saress Sixdiyeo dug 4 Blherenrr eiobyd. S0 Bodks 303K taroe
oy 308 D80

(1) 6@ 2) 30 (3) 0660Q 4 159

69. The material which has a resistivity value of about 10x10'°{-m at 20°C is

20 *C 3¢ 28396650 10 x10'°Q-m m £BAS 3orgiw
(1) Air (2) Glass (3) Rubber (4) lron
o e Gy Fs

70. When both the length and area of cross-section of a wire are doubled, then the resistance

will be "

£5 B 08, e S0Bako Bogyys Dregin Botsr, Bolotien anspe & BiX 96's0

(1) doubled (2] quadrupled (3) halved (4) remains same
Jodadey erbae realtey el Ao Bt St

r SPACE FOR ROUGH WORK / Dtisd8 oo
L]



71. The work done by an electric foree in movin

! . £ & unit positive charge from one vt
another point i a circuit is called P * o e

LR ] -1‘336"-3‘1_ e85 2ouod’ s Dot Sood bl Docaih puirded ddkut & Ty ven Ly vt

=

(1} resistivity (2) potential difference
06" 0 Fagand i

(3) drift speed (4) conductivity
et TS0

72. Two currents 0-5 mA and 5 mA flow towards the junction in a circuit and three currents
1 mA, x and 2 mA flow away from the junction. The value of x (in mA) is

Bt Jigd ETifen 0'5 MA 300050 5 MA @ 5 Soabod™ eogs 3P M BBAL Sares g FoT
1 mA, x 2:0cais 2 mA e mogd Juod drtor @airely, x e (mA) &

(1) 55 2) 25 3 3 4 2
73. The magnetic force acting on a moving charge is given by the product of three quantities,
namely
Sesod’ &, ulsed 3D3a eainpd neo Jur OB ordE JErso. 6D
(1) charge, speed, electromotive force
eslido, 38, Dydaryed woo
(2) charge, magnetic flux, magnetic flux density
eito, salbines edTire, ecbined shir Fods
(3) charge, speed, magnetic flux density
e, 58, eabired emr Foks

(4) charge, speed, current
eddo, 5, Duxd ZTTe

74. Lenz’s law gives

Bodf Dabiioo Bob T8’ 820 ddabdigel

(1) direction of the magnetic field line at any point
scdes §6 Sped D07 Dok 3¢ o OF

[2) magnetic force acting on a current carrying wire in magnetic field
wadnpd o8’ ind Eorarin DN a3 B 303uh eabined voo

{3) direction of induced current
(50 2058 O

(4) pole strength of the bar magnet

SoGrabanodc dis), G0
SPACE FOR ROUGH WORK / Dagi08 oo
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T5. An auto driver has started his aute with the help of a rope by pulling. The device used by

him to convert mechanienl energy to electrical energy is
£ A% Sréne
es en® 258 et ok o e orgor D Aharde, ol #390 tupd T Ardned e T P

(1} battery (2) transformer 3 fuse i dynamo
empead eyt s &R
T6. The material more suitable for core of the electromagnet is
Ad0pRdelnpde Joas, FET @i 50dks Soge
{1) Cu-Ni alloy (2} nichrome i3) soft iron 4] steel

77. A conductor moving with a speed of 20 m/s in the direction perpendicular to the
direction of magnetic field of induction 0-5T, induces an EMF of 5 V. The length of the
conductor is

eE Tarssn 05 T (06 5503 wobides Ho0l vondds’ 20 m/ s el pardar, 5 V (06 Doogbores vl
Soarihol. & Trto dal), IED

1) Im 2) 5m (3) 50 m (4 05m

78. The magnetic field lines due to the horseshoe magnet between its poles are
WWMWWD@@&W@EWM

(1) straight lines (2) squares
. o T Sotpreoe
{4) loops of irregular shape

(3] circles

e S w0 &0 Sedirw

7T9. A bar magnet is moved towards a coil (a) slowly, (b} quickly. The induced EMF is
LE Socrahinpery by &8 (a) AayBm, {b) oy ST, (HO8 DuygdTyes neo

(1) same in both cases (2) large in case (a)
Boths sotoyisr Sarso (a) Socsces'

(3) large in case (b} (4) dependent only on radius of the coil
(b) Socyes’ Jep Briiog o S exqroscatood

SPACE FOR ROUGH WORK / D#gaD8 Jpisias



80. Which among the following pair of units measure the temperature?

2l T8 ednon Fode pow Bareroe

(1) Degree Celsius, Joule (2) Degree Celsius, Calorie
i Dy, 8 A& 2Byt 36%

(3} Degree Celsius, Kelvin (4) Kelvin, Joule
S lane®, 305 205, S

81. Humidity means
20 LT

{1) Pressure difference in atmospheric air
—oatnedD mh haise do

(2] Amount of water vapour in atmospheric air
Terstnos'D mhned o Dy wdd Sirae

(3) Temperature in the atmosphere
TorStnodh ey

{4) Quantity of heat energy given by the Sun
A Hood Sy apEl Sbdrne

82, 40 g of water at 60°C is added to 60 g of water at 30 "C. The final temperature of thewr

mixture is

60 °C &y DA% 40 g DD, 30 °C &3y sBAS 60 g Heid sEharth. Doy Doiton S0l wind

(1) <s0°C (2) >50°C {3 =50°C {4) None of these
P

*

Ghee is converted from liquid to solid state during winter season. This process is called

Sorseos’ Aoy SO0 ol BISScoll Sty Eddb

2

{4) Condensation

{1} Ewvaporation (2) Melting (3) Freezing
riyesso edessso ahesse Foylsono
T . l of
84. The total internal reflection in diamond makes it shine, because the critica angle
diamond is
Wmmmw&gmwmwa@n.mmmmam‘mm e
) wvery high (2) wvery low (3) exactly 45° {4) Nnn:a
Do 5 To Sy pytor 45° w0 .

SPACE FOR ROUGH WORK / Htigisob s



Lo ieweed |
8S. A rectangular tank of depth 4 m is full of water of refractive index 4/3. When viewred fram

the tap, the bottom of the tank is seen at a depth of
sov 473 abesn romse 50N De)E" ol dob. P

(RN

a™

4m oy e T oy D
e W e S
i dm 2] 2m {3) 038 m 4 1'33 m

86. To cxamine the internal organs of a human body through light, the doctors use
2732 3500 20D ©0090 LdTEH $0d oo Shlotobi 3 TN
[4) optical fibre

(1) stethoscope (2] centrifuge (3] sterilizer
.-_1:356 ?fa:-s

e N
[ wsfors abode §00eb

87. A bird is flying vertically downwards the surface of water of a lake with constant speed. For
a fish inside the water exactly below the bird, the bird appears to be

safcs -"--.!mqawm;msb@um@ommmae:gmMMmuh;

S sl Fee

(1) farther than actual distance (2) closer than actual distance
Y Lo Ky Srderr Y Grto S GioT
(3] at the actual position (4) None of these
dbgr Tdes’ ERE-n ]
88. The angle between the paraxial rays and principal axis is
Frodyabd drre, Pod epdl g e Fne
(1 45° 2 o (3 90° 4 83

89. A convex lens has a focal length of 10 cm. If u is the object distance, then the image
distance is given by
&5 S0e75d Swto o, Tergedte 10 om. u Sdrto sowd Pl drosw

10 10u -10
a t.t—uln @) u-10 @) u-10 @ ul[)u

#0. A double concave lens of refractive index 1'5 with its two spherical surfaces of radii
Ry =30 cm and R; =45 cm is kept in air. Its focal length is
1'5 3ens foeko DA Ry = 30 cm Sdatw Ry =45 cm oydnqeim &3 3ot Fvss as0sces S0AD o5
Bpersd Susy MO 40D, 0D Tttt

(2) 375em (3) -18 em (4) =36 cm

(1) 15 em
' BPACEFDRROUGHWORKIWQMn




SECTION—III : CHEMISTRY

e maxi lec
o1. '[l““ 1; mum number of clectrons that can be accommodated in the L shell af
iy

L5 0Tl Bhde Lenota asab K0 Jug e Hogy

(h 16 2) 8 3 2 (4) 4

Q2. If tlhe atomic weights of lithium and potassium respectively are 7 and 39, then the atomic
weight of sodium as per Dobereiner's law of triads is

£3abe Bobakn Serlyibon dhof) I Groves ST 7 Mdako 39 wodd, cobsb 95 hocos T,
o dloos), BOBPE GPUN Jod?

(1) 22 2 1 (3] 46 4) 23

93. The correct order of electronegativity values of the following elements is
& 2ol Mroroh HDHENS pordiyoHss daxde Rink

(1) C<N<F<O {2) c<O<N<F (3) C<N<O<F 4 N<C<O<F

94. The number of elements present in period 4th of long form of periodic table are
5765 a5 58 4 3 boais’ & durose dowg
{1 2 2 8 (3 18 4) 32

95. The non-metal present in IVA {carbon family) is
VA ¢ 8o 5ty Botwonind' dod wé'ori
mc (2) 8n @) P (4) Qe

96. The element with highest electron affinity value among halogens ia
He'us sarerel’ D Srokinsl et Jogs WDd Joss doted

(1) 2) F {3 Br’ (4. 1
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97. An clement |, M?* forms ionic compound with another element 'Y’ Then th "
the ion formed by M is
LS 2aromn |, M2 ¥ o saposind sairns vogo Do, wand M 3 26,2 watri e oo

() +1 @) +3 (3 +2 (4 -2

98. The covalent bonds present in nitrogen molecule are
TS e’ dod Stadrehah poges

(1) one o {sigma) bond and one n (pi) bond
LE 0 podio Soldby L5 T ooty

(2) two o (sigma) bonds and no n (pi) bond
Sos 0 ofiiuo: Sbain T sedo B

(3) one o (sigma) bond and two = (pi) bonds
L5 0 wofo Sbaby Sot T weitue:

(4) two o (sigma) bonds and two n (pi) bonds
Tolls 0 Bt Sobdiy Jods oo

99. The type of hybrid orbital exist at Be atom in BeCl, is
BeCl, urupé’ Be soirrand 3¢ D G503 5085 @Lri dotran?
(1) sp (2) sp? @ sp? @) sp*-sp?

100. The shape of methane molecule is
D33 eruy dwt oyl
(1) pyramidal (2) trigonal planar (3) tetrahedral (4) linear

bonued (Ripdius) dhan Geveo Stotigdeio Bhano

101. Which of the molecules has highest bond length (&)? W
e dod 6" A8 ol e el '
(1) H—F @) H—CI (3) H—Br (4) H—
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102. Match the following :

& Bob T mibtoRn ;

COre Formula
(a) Fe,0, (i) Magnesite (3l
o) MgCO, (i) Magnetite (3reS)
[c) ZnS (iii) Cinnabar (bier6)
{d) Hg,S (iv] Zinc Blende (0§ Zof)

M @ ® & O
i) ) [ (v
2 (@ ® f(© @@
(i) @) (iQ) (i)
(3) (@ B & @
) @) ) i)
@ @ O @
(i) ) v ()

103. The most suitable method for concentration of sulphide ore is
& 208 T8 D 350 335 T Fofesin It P dowod?

(1) washing (2) hand picking
e gento 306" dediabeo
(3) froth floatation

(4) magnetic separation

st Soys 350

559 pdan

104. The name of complex ion formed when Ag,S is dissolved in KCN solution is
Ag;S 2 KCN rseind’ 5onoDiss Dy Sofk eairso Q) il

(1} monocyanoargentate(l) ion
BT urRSaS (1) satriss

(2) dicyanoargentate(l) ion

Sorpidd () eatrd
(3) tricyanoargentate(l) ion (4) tetracyancargentatefl) ion
W& (1) esciiriss Dprdarf S (T) eairsd

SPACE FOR ROUGH WORK / g8 o




105. Graphite is a good conductor of electricity hecause of

=pef o8 terl Doppdorriaem W Aol TImL
lized 7 #lectron aystem
(1) it has localized = electron svstem 12} it has deloca

e e Fae LUT N
[ T E— R TerT o i A 4
B Do e M0 T Sy -5 -

ized a electron system
13) 1t has locahzed o electron svstem (4) it has delocal i '{ o ¥
3320 doded 0 Jogie HIn L Deldaiy O SIS ey
L3 - e

106. The molecular formula of cyclopentane is
el Zug) wen Piiye

(1 CsHyp (2) CgHyy (3) CsHs @) CsHy

107. The [UPAC name of the compound CH,—CH,—CH=CH, is
CHy—CH,;—CH=CH, @x%, [UPAC i

{1} But-3-ene (2) But-1-ene (3) But-3-yne (4) But-1-yne

erped-3-8a5 earyed-1-5e5 arypd-3-05 arpi-l-=t

108. C;H:OH on oxidation with alkaline KMnO, gives the compound A, which on further
oxmidation gives the compound B. The names of A, B respectively are
CoH;OH S gociod KMnO, 6 edysosos Saor ‘A’ o sdyeissn Doyise, mbocrtd edesese: 3% B
D5dsa. eond ‘A, B by St

(1) methanal, methanoic acid [2|‘ ethanal, ethanocic acid
2ogrd, Do ok et 36d, 5ok exitios

(3) ethene, propanoic acid {4) ethyne, ethanoic acid
#35, @radfant e 35, atTonf e

109. Which one of the following compound hydrocarbons can show isomerism?

0 o8 D S wew Dy, POR00?
(1) CiH, (2) C;Hy 3) CyH, 4) C.H,
110. CH,COOH is an organic
CH,COOH st i WS
' (1} weak base ) weak acid (3) strong acid

. 4 base
chespe  C ebse s g
8PACE VOR ROUGH WORK / Szt frinn —



111. The volume occupied by 10 grams of hydrogen gas at STI is

10 e
' D T STP g 200 Jsa0irerd) plsod

(1 112 litres (2) 112 litres (3) 224 litres 4) 224 litres

112 dey 112 oy 224 By 224 bty

112. The chemical equation BaCl, + Na,S0, -» BaSO, +2NaCl is an example for which type of
the following chemical reactions?

BaCl, + Na;SO, — BaS0, + 2NaCl e oans 6 & dob T8 &2 sorde

(1} Displacement (2) Combination
Sl Pgodo Eaiiss SodlPrn

(3) Decomposition {4) Double-displacement
e DAPItia Braian Srody DA

113. Which one of the following layers of a metallic compound can be formed on electric wire as
insulator during rainy season and causes the power supply to our home from the electric
pole to be interrupted?

B 208 T8 D &'y s Y Sgog’ Doy Bith Doy E'orr Dyl Jodalle SBoen Jogo Aok
e ) napory HD0Fdbony Sigeds

(1) Metal sulphide (2) Metal oxide
& 58 & gl

(3] Metal carbonate (4) Metal peroxide
& sBiphs & 203l

114. A thin layer of ‘X" metal is used as galvanizing on iron surface to protect from rusting of
iron. The name of X metal is

0 BoiuiigtosT J0HeSLE M gl Sped X mmmmmm,xdm
S

(1) tin (2] lead (3] zinc {4) aluminium
a5 .51 2ok suryadbe
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115,

116.

117.

118.

119.

120,

The chemical name of bnking soda is

2228 2= A Do Mo sty Ol ST

{1 sodium carbonate {2) calcium hydrogen carbonate
L3
2Miaie =5dS = TE RS FGR

{3) ecaleium carbonate (4} sodium hydrogen t:'arbonalt
sfune sHpkd Haie "f@’fe»:'r ERnyIs

The colour of methyl orange in alkaline medium (basic) is
£ Tarres’ 138 woed arde dluy, tor

{1) orange 12} yellow (3) red 4) blue
estiod Sl BT SrRia

Which one of the following types of medicine is used for treating indigestion?
e 0B D6 D Mooty wdgorts &IAPNTEN

(1) Antibiotic (2) Analgesic (3} Antacid (4) Antiseptic
esotiedirdl JrdehE " eaoeriE cﬁrm.!:‘ufag.

The number of water molecules present in one formula unit of Eypsum is
L8 Froiyer aurdd Sed” soll D wruhe Hogy

i1} two (2) half (%) 3) five 4) one
Botis Rt (V) ey )

The names of the sub-shells present in M shell (n=3) are
M o3 56630 (n = 3) & oo s3tsoe b

(1) 2s, 2p, 2d (2) 3s, 3p, 3d 31 3p, 34, 3f 4) 4s, 4p, 44, af

A:H per Moeller chart, the correct ascending order of their energies of the following
orbitals is

Mmm,mmmqummwbmg
(1} 3s<3p<d4s<3ad 2) 3s<3p<3d<4s

(3) 3s<4s<3p<ad (4) 3s<3d<4s<3p
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